
Input parameters: Fs,T,
0 ≤ t ≤ T · Fs

Is Input Type ar-
ray of frequencies?

f (t) = cos(2 · π · f reqi · t)Input: Signal

f (t) = Signal(τ)|τ∈t

fBase Input(t) = Normalize( f (t))

Input: Noise, nUF(t)

nUF(t) 6= 0
HNoise Filter(z) 6= 1

?

n(t) = hNoise Filter(t) ∗ nUF(t)

Compute fSL(t),nNL(t)

Compute
SNL,0(t) = s(t, α∗NL),
SNL,SL(t) = s(t, α∗NL + ∆αSL)

HHearing Aids(z) 6= 1?

Pin(t) = SInput
NL,SL(t)

= SNL,SL(t)
hHearing Aids(t) = F−1{HHearing Aids(z)}

Pin(t) = SInput
NL,SL(t) =SHA

NL,SL(t)

=hHearing Aids(t) ∗ SNL,SL(t)

Yes

f req1 . . . f reqd

No

No,
n(t) = nUF(t)

Yes

YesNo


